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1
NRrhlx<+ ek/;fed f’k{kk eaMy] jk;iqjNRrhlx<+ ek/;fed f’k{kk eaMy] jk;iqjNRrhlx<+ ek/;fed f’k{kk eaMy] jk;iqjNRrhlx<+ ek/;fed f’k{kk eaMy] jk;iqj

gkbZ Ldwy lfVZfQdsV ijh{kk o"kZ 2008&09gkbZ Ldwy lfVZfQdsV ijh{kk o"kZ 2008&09gkbZ Ldwy lfVZfQdsV ijh{kk o"kZ 2008&09gkbZ Ldwy lfVZfQdsV ijh{kk o"kZ 2008&09
ekWMy iz’u i=ekWMy iz’u i=ekWMy iz’u i=ekWMy iz’u i=  (Model Question Paper)

d{kk%&d{kk%&d{kk%&d{kk%&   10 oha   10 oha   10 oha   10 oha Class 10th

fo"k;%&  lkekftd foKkufo"k;%&  lkekftd foKkufo"k;%&  lkekftd foKkufo"k;%&  lkekftd foKku Subject:- Social Science
le;%&  3 ?k.Vsle;%&  3 ?k.Vsle;%&  3 ?k.Vsle;%&  3 ?k.Vs Time:- 3 Hours
iw.kkZd%& 100iw.kkZd%& 100iw.kkZd%& 100iw.kkZd%& 100 Maximum Marks :-  100

funsZ’k%&funsZ’k%&funsZ’k%&funsZ’k%& lHkh iz’u gy dhft;s AlHkh iz’u gy dhft;s AlHkh iz’u gy dhft;s AlHkh iz’u gy dhft;s A
Note:-  Attempt all Questions
funsZ’k&¼v½funsZ’k&¼v½funsZ’k&¼v½funsZ’k&¼v½ iz’u Øekad 1 ls 10 rd vfr y?kqmRrjh; iz’u gS A izR;sd iz’u ij 2 vadiz’u Øekad 1 ls 10 rd vfr y?kqmRrjh; iz’u gS A izR;sd iz’u ij 2 vadiz’u Øekad 1 ls 10 rd vfr y?kqmRrjh; iz’u gS A izR;sd iz’u ij 2 vadiz’u Øekad 1 ls 10 rd vfr y?kqmRrjh; iz’u gS A izR;sd iz’u ij 2 vad

vkcafVr gS A ¼mRrj dh vf/kdre ’kCn lhek 30 ’kCn½vkcafVr gS A ¼mRrj dh vf/kdre ’kCn lhek 30 ’kCn½vkcafVr gS A ¼mRrj dh vf/kdre ’kCn lhek 30 ’kCn½vkcafVr gS A ¼mRrj dh vf/kdre ’kCn lhek 30 ’kCn½
Question No. 1 to 10  are very  Short  answer  type question. Each carries
2 marks (Limitation of answer 30 words)

iz’u 1&iz’u 1&iz’u 1&iz’u 1& *[kqys }kj* dh uhfr dk D;k vFkZ gS \*[kqys }kj* dh uhfr dk D;k vFkZ gS \*[kqys }kj* dh uhfr dk D;k vFkZ gS \*[kqys }kj* dh uhfr dk D;k vFkZ gS \ ¼2½¼2 ½¼2 ½¼2 ½
What is the meaning of ‘Open door’ policy ?

iz’u 2&iz’u 2&iz’u 2&iz’u 2& izFke fo’o;q) dh lekfIr dh frfFk ,oa lu fyf[k;s \izFke fo’o;q) dh lekfIr dh frfFk ,oa lu fyf[k;s \izFke fo’o;q) dh lekfIr dh frfFk ,oa lu fyf[k;s \izFke fo’o;q) dh lekfIr dh frfFk ,oa lu fyf[k;s \ ¼2½¼2 ½¼2 ½¼2 ½
Write the end date and year of first world war.

iz’u 3&iz’u 3&iz’u 3&iz’u 3& ,d eq[; ?kVuk dk mYys[k djsa] ftlls Kkr gks fd ’khr ,d eq[; ?kVuk dk mYys[k djsa] ftlls Kkr gks fd ’khr ,d eq[; ?kVuk dk mYys[k djsa] ftlls Kkr gks fd ’khr ,d eq[; ?kVuk dk mYys[k djsa] ftlls Kkr gks fd ’khr ;q) lekIr gks
x;k gS A    ¼2½
Discuss one important  event which showed that cold- war ended now .

iz’u 4&iz’u 4&iz’u 4&iz’u 4& NRrhlx<+ esa ’kklu djus okys izeq[k jktoa’kksa ds uke fyf[k;s ANRrhlx<+ esa ’kklu djus okys izeq[k jktoa’kksa ds uke fyf[k;s ANRrhlx<+ esa ’kklu djus okys izeq[k jktoa’kksa ds uke fyf[k;s ANRrhlx<+ esa ’kklu djus okys izeq[k jktoa’kksa ds uke fyf[k;s A ¼2½¼2 ½¼2 ½¼2 ½
Write the name’s of Royal family whom ruled on chhattisgarh.

iz’u 5&iz’u 5&iz’u 5&iz’u 5& Hkkjrh; vk;ksZ dh fdUgh nks izkphu iqLrdksa dk o.kZu dhft, AHkkjrh; vk;ksZ dh fdUgh nks izkphu iqLrdksa dk o.kZu dhft, AHkkjrh; vk;ksZ dh fdUgh nks izkphu iqLrdksa dk o.kZu dhft, AHkkjrh; vk;ksZ dh fdUgh nks izkphu iqLrdksa dk o.kZu dhft, A ¼2½¼2½¼2 ½¼2 ½
Describe any two ancient books of Indian Arya.

iz’u 6&iz’u 6&iz’u 6&iz’u 6& miHkksDrk dh cpr dk lw= fyf[k;s \miHkksDrk dh cpr dk lw= fyf[k;s \miHkksDrk dh cpr dk lw= fyf[k;s \miHkksDrk dh cpr dk lw= fyf[k;s \ ¼2½¼2 ½¼2 ½¼2 ½
Write the formula of Consumer’s Surplus.

iz’u 7&iz’u 7&iz’u 7&iz’u 7& Je foHkktu fdrus izdkj dk gksrk gS( uke fyf[k;s AJe foHkktu fdrus izdkj dk gksrk gS( uke fyf[k;s AJe foHkktu fdrus izdkj dk gksrk gS( uke fyf[k;s AJe foHkktu fdrus izdkj dk gksrk gS( uke fyf[k;s A ¼2½¼2 ½¼2 ½¼2 ½
How many type of Labour division . Write names only.
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iz’u 8&iz’u 8&iz’u 8&iz’u 8& Hkwfe {kj.k D;ksa gksrk gS \ mldk dkj.k nhft, AHkwfe {kj.k D;ksa gksrk gS \ mldk dkj.k nhft, AHkwfe {kj.k D;ksa gksrk gS \ mldk dkj.k nhft, AHkwfe {kj.k D;ksa gksrk gS \ mldk dkj.k nhft, A ¼2½¼2½¼2 ½¼2 ½
Why does erosion of Land ? Give reason.

iz’u 9&iz’u 9&iz’u 9&iz’u 9& orZeku ;qx dks [kfut ;qx D;ksa dgrs gSa \orZeku ;qx dks [kfut ;qx D;ksa dgrs gSa \orZeku ;qx dks [kfut ;qx D;ksa dgrs gSa \orZeku ;qx dks [kfut ;qx D;ksa dgrs gSa \ ¼2½¼2 ½¼2 ½¼2 ½
Why does the present age is called Mineral Age.

iz’u 10&iz’u 10&iz’u 10&iz’u 10& ^fVLdks* D;k gS \ le>kb;s A^fVLdks* D;k gS \ le>kb;s A^fVLdks* D;k gS \ le>kb;s A^fVLdks* D;k gS \ le>kb;s A ¼2½¼2 ½¼2 ½¼2 ½
What is  ‘TISCO’ - Describe?

funsZ’k&¼c½funsZ’k&¼c½funsZ’k&¼c½funsZ’k&¼c½ iz’u Øekad 11 ls 18 rd y?kqmRrjh; iz’u gS A izR;sd iz’u ij 3 vadiz’u Øekad 11 ls 18 rd y?kqmRrjh; iz’u gS A izR;sd iz’u ij 3 vadiz’u Øekad 11 ls 18 rd y?kqmRrjh; iz’u gS A izR;sd iz’u ij 3 vadiz’u Øekad 11 ls 18 rd y?kqmRrjh; iz’u gS A izR;sd iz’u ij 3 vad
vkcafVr gS A ¼mRrj dh vf/kdre ’kCn lhek 50 gS A½vkcafVr gS A ¼mRrj dh vf/kdre ’kCn lhek 50 gS A½vkcafVr gS A ¼mRrj dh vf/kdre ’kCn lhek 50 gS A½vkcafVr gS A ¼mRrj dh vf/kdre ’kCn lhek 50 gS A½
Question No. 11 to 18 are short answer type question. Each carries 3 marks.
(Maximum limit of answer 50 words)

iz’u 11&iz’u 11&iz’u 11&iz’u 11& fo’o’kkafr ds fy;s la;qDrjkfo’o’kkafr ds fy;s la;qDrjkfo’o’kkafr ds fy;s la;qDrjkfo’o’kkafr ds fy;s la;qDrjk""""Vª ds mn~ns’; lgk;d gS A le>kb;s A  ¼3½Vª ds mn~ns’; lgk;d gS A le>kb;s A  ¼3½Vª ds mn~ns’; lgk;d gS A le>kb;s A  ¼3½Vª ds mn~ns’; lgk;d gS A le>kb;s A  ¼3½
To establish world peace the UNO’S purpose is helpful.- Describe.

iz’u 12&iz’u 12&iz’u 12&iz’u 12& lkekftd psruk dks izHkkfor djus okys rhu rRo fyf[k;s Alkekftd psruk dks izHkkfor djus okys rhu rRo fyf[k;s Alkekftd psruk dks izHkkfor djus okys rhu rRo fyf[k;s Alkekftd psruk dks izHkkfor djus okys rhu rRo fyf[k;s A ¼3½¼3 ½¼3 ½¼3 ½
Write three elegnants which effect on Social Awareness.

iz’u 13&iz’u 13&iz’u 13&iz’u 13& Hkkjr esa ewY;&o`f) ds nks dkj.k fyf[k;s AHkkjr esa ewY;&o`f) ds nks dkj.k fyf[k;s AHkkjr esa ewY;&o`f) ds nks dkj.k fyf[k;s AHkkjr esa ewY;&o`f) ds nks dkj.k fyf[k;s A ¼3½
Write two causes of Price rise.

iz’u 14&iz’u 14&iz’u 14&iz’u 14& foRr ea=h dks dj&fu/kkZj.k esa miHkksDrk dh cpr ls dSls lgk;rk feyrhfoRr ea=h dks dj&fu/kkZj.k esa miHkksDrk dh cpr ls dSls lgk;rk feyrhfoRr ea=h dks dj&fu/kkZj.k esa miHkksDrk dh cpr ls dSls lgk;rk feyrhfoRr ea=h dks dj&fu/kkZj.k esa miHkksDrk dh cpr ls dSls lgk;rk feyrh
gS & LigS & LigS & LigS & Li""""V dhft;s AV dhft;s AV dhft;s AV dhft;s A    ¼3½
Discuss how Consumer’s surplus is helpful to finence minister in
tax-fixation.

iz’u 15&iz’u 15&iz’u 15&iz’u 15& Je foHkktu fdl izdkj mRiknu dq’kyrk esa o`f) djrk gS A le>kb;s AJe foHkktu fdl izdkj mRiknu dq’kyrk esa o`f) djrk gS A le>kb;s AJe foHkktu fdl izdkj mRiknu dq’kyrk esa o`f) djrk gS A le>kb;s AJe foHkktu fdl izdkj mRiknu dq’kyrk esa o`f) djrk gS A le>kb;s A
How division of Labour improves the skillful production -Discuss    ¼3½

iz’u 16&iz’u 16&iz’u 16&iz’u 16& xjhch o csdkjh ,d lkFk D;ksa mRiUu gksrh gS A dkj.k nhft;s Axjhch o csdkjh ,d lkFk D;ksa mRiUu gksrh gS A dkj.k nhft;s Axjhch o csdkjh ,d lkFk D;ksa mRiUu gksrh gS A dkj.k nhft;s Axjhch o csdkjh ,d lkFk D;ksa mRiUu gksrh gS A dkj.k nhft;s A   ¼3½  ¼3½  ¼3½  ¼3½
Why poverty and unemployment grows to gether.- Give reasons.

iz’u 17&iz’u 17&iz’u 17&iz’u 17& [kfut fdls dgrs gS A mlds nks izdkj fyf[k;s A[kfut fdls dgrs gS A mlds nks izdkj fyf[k;s A[kfut fdls dgrs gS A mlds nks izdkj fyf[k;s A[kfut fdls dgrs gS A mlds nks izdkj fyf[k;s A ¼3½¼3 ½¼3 ½¼3 ½
What is Minerel. Write its two type.

vFkok vFkok vFkok vFkok (OR)

[kfut lalk/kuksa dk vkfFkZd egRo le>kb;s A[kfut lalk/kuksa dk vkfFkZd egRo le>kb;s A[kfut lalk/kuksa dk vkfFkZd egRo le>kb;s A[kfut lalk/kuksa dk vkfFkZd egRo le>kb;s A



110

Explain the economic importance of Minerel resources.

iz’u 18&iz’u 18&iz’u 18&iz’u 18& cM+s iSekus ds m|ksx o NksVs iSekus ds m|ksx esa varj LicM+s iSekus ds m|ksx o NksVs iSekus ds m|ksx esa varj LicM+s iSekus ds m|ksx o NksVs iSekus ds m|ksx esa varj LicM+s iSekus ds m|ksx o NksVs iSekus ds m|ksx esa varj Li""""V dhft, A ¼3½V dhft, A ¼3½V dhft, A ¼3½V dhft, A ¼3½
Describe  the  differences  between  large  scale  and  small  scale industry.

vFkok vFkok vFkok vFkok (OR)

vkS|ksfxd fodkl ds fcuk ÑfvkS|ksfxd fodkl ds fcuk ÑfvkS|ksfxd fodkl ds fcuk ÑfvkS|ksfxd fodkl ds fcuk Ñf""""k k k k {ks= esa fodkl laHko ugha & O;k[;k
dhft;s A
The development of Agriculture is not possible without the progress of
industries.- Explain.

funsZ’k&¼l½funsZ’k&¼l½funsZ’k&¼l½funsZ’k&¼l½ iz’u Øekad 19 ls 24 rd y?kqmRrjh; iz’u gS A izR;sd iz’u ij 4 vadiz’u Øekad 19 ls 24 rd y?kqmRrjh; iz’u gS A izR;sd iz’u ij 4 vadiz’u Øekad 19 ls 24 rd y?kqmRrjh; iz’u gS A izR;sd iz’u ij 4 vadiz’u Øekad 19 ls 24 rd y?kqmRrjh; iz’u gS A izR;sd iz’u ij 4 vad
vkcafVr gS A ¼mRrj dh vf/kdre ’kCn lhek 75 ’kCn½vkcafVr gS A ¼mRrj dh vf/kdre ’kCn lhek 75 ’kCn½vkcafVr gS A ¼mRrj dh vf/kdre ’kCn lhek 75 ’kCn½vkcafVr gS A ¼mRrj dh vf/kdre ’kCn lhek 75 ’kCn½
Question No. 19 to 24 are short answer type question. Each  carries  4
marks. (Maximum limit of answer 75 words)

iz’u 19&iz’u 19&iz’u 19&iz’u 19& f}rh; fo’o ;q) ds izeq[k dkj.k fyf[k;s Af}rh; fo’o ;q) ds izeq[k dkj.k fyf[k;s Af}rh; fo’o ;q) ds izeq[k dkj.k fyf[k;s Af}rh; fo’o ;q) ds izeq[k dkj.k fyf[k;s A ¼4½
Write the main reasons of second world war.

iz’u 20&iz’u 20&iz’u 20&iz’u 20& ^^okj~lk; laf/k** esa f}rh; fo’o;q) ds cht Nqis Fks & le>kb;s A^^okj~lk; laf/k** esa f}rh; fo’o;q) ds cht Nqis Fks & le>kb;s A^^okj~lk; laf/k** esa f}rh; fo’o;q) ds cht Nqis Fks & le>kb;s A^^okj~lk; laf/k** esa f}rh; fo’o;q) ds cht Nqis Fks & le>kb;s A  ¼4½
The seeds of second world war were hidden in Varsay Treaty. Explain it.

iz’u 21&iz’u 21&iz’u 21&iz’u 21& Hkkjr dk rduhdh o foKku ds {ks= esa ;ksxnku fyf[k;s AHkkjr dk rduhdh o foKku ds {ks= esa ;ksxnku fyf[k;s AHkkjr dk rduhdh o foKku ds {ks= esa ;ksxnku fyf[k;s AHkkjr dk rduhdh o foKku ds {ks= esa ;ksxnku fyf[k;s A ¼4½¼4 ½¼4 ½¼4 ½
Write the achivments of India in Scope of Science and Technology.

iz’u 22&iz’u 22&iz’u 22&iz’u 22& fo/kkulHkk dk v/;{k fdl lnu ls pquk tkrk gS A blds rhu dk;Zfo/kkulHkk dk v/;{k fdl lnu ls pquk tkrk gS A blds rhu dk;Zfo/kkulHkk dk v/;{k fdl lnu ls pquk tkrk gS A blds rhu dk;Zfo/kkulHkk dk v/;{k fdl lnu ls pquk tkrk gS A blds rhu dk;Z
fyf[k;s Afyf[k;s Afyf[k;s Afyf[k;s A    ¼4½
Answer by which  Assembly the president of state legislative elected. Write
three functions of him.

iz’u 23&iz’u 23&iz’u 23&iz’u 23& ou dk D;k vFkZ gS \ ou ds nks izdkj fyf[k;s Aou dk D;k vFkZ gS \ ou ds nks izdkj fyf[k;s Aou dk D;k vFkZ gS \ ou ds nks izdkj fyf[k;s Aou dk D;k vFkZ gS \ ou ds nks izdkj fyf[k;s A ¼4½¼4 ½¼4 ½¼4 ½
What is the meaning of forets ? Write two type of it’s ?

vFkok vFkok vFkok vFkok (OR)

ljdkj }kjk Ñfljdkj }kjk Ñfljdkj }kjk Ñfljdkj }kjk Ñf"k ds uohuhdj.k gsrq fd;s x;s iz;kl fyf[k;s A"k ds uohuhdj.k gsrq fd;s x;s iz;kl fyf[k;s A"k ds uohuhdj.k gsrq fd;s x;s iz;kl fyf[k;s A"k ds uohuhdj.k gsrq fd;s x;s iz;kl fyf[k;s A
Write the efforts of renewal of Agriculture doing by the Government.
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iz’u 24&iz’u 24&iz’u 24&iz’u 24& e`nk vijnu dks nwj djus ds mik; le>kb;s Ae`nk vijnu dks nwj djus ds mik; le>kb;s Ae`nk vijnu dks nwj djus ds mik; le>kb;s Ae`nk vijnu dks nwj djus ds mik; le>kb;s A ¼4½¼4 ½¼4 ½¼4 ½
Explain the remedy to remove Soil  erosion.

vFkok vFkok vFkok vFkok (OR)

lnkcgkj o i.kZikrh ouksa esa vUrj le>kbZ;s Alnkcgkj o i.kZikrh ouksa esa vUrj le>kbZ;s Alnkcgkj o i.kZikrh ouksa esa vUrj le>kbZ;s Alnkcgkj o i.kZikrh ouksa esa vUrj le>kbZ;s A
Write the differences in between Evergreen and deciduous forest

funsZ’k&¼n½funsZ’k&¼n½funsZ’k&¼n½funsZ’k&¼n½ iz’u Øekad 25 ls 28 rd nh?kZmRrjh; iz’u gS A izR;sd iz’u ij 5 vadiz’u Øekad 25 ls 28 rd nh?kZmRrjh; iz’u gS A izR;sd iz’u ij 5 vadiz’u Øekad 25 ls 28 rd nh?kZmRrjh; iz’u gS A izR;sd iz’u ij 5 vadiz’u Øekad 25 ls 28 rd nh?kZmRrjh; iz’u gS A izR;sd iz’u ij 5 vad
vkcafVr gS A ¼mRrj dh vf/kdre ’kCn lhek 150 ’kCn½vkcafVr gS A ¼mRrj dh vf/kdre ’kCn lhek 150 ’kCn½vkcafVr gS A ¼mRrj dh vf/kdre ’kCn lhek 150 ’kCn½vkcafVr gS A ¼mRrj dh vf/kdre ’kCn lhek 150 ’kCn½

(D) Question No. 25 to 28 are  long answer type question. Each carries 5 marks.
(Maximum limit of answer 150 words)

iz’u 25&iz’u 25&iz’u 25&iz’u 25& ,f’k;k o vÝhdk esa jktuSfrd iquZ%tkxj.k ds dkj.k fyf[k;s A,f’k;k o vÝhdk esa jktuSfrd iquZ%tkxj.k ds dkj.k fyf[k;s A,f’k;k o vÝhdk esa jktuSfrd iquZ%tkxj.k ds dkj.k fyf[k;s A,f’k;k o vÝhdk esa jktuSfrd iquZ%tkxj.k ds dkj.k fyf[k;s A ¼5½
Write the couses of political renaissance in Asia and Africa.

iz’u 26&iz’u 26&iz’u 26&iz’u 26& NRrhlx<+ es a ukjh l’kDrhdj.k gsrq jkT; ljdkj }kjk izkjaHk ;kstuk,¡NRrhlx<+ es a ukjh l’kDrhdj.k gsrq jkT; ljdkj }kjk izkjaHk ;kstuk,¡NRrhlx<+ es a ukjh l’kDrhdj.k gsrq jkT; ljdkj }kjk izkjaHk ;kstuk,¡NRrhlx<+ es a ukjh l’kDrhdj.k gsrq jkT; ljdkj }kjk izkjaHk ;kstuk,¡
fyf[k;s Afyf[k;s Afyf[k;s Afyf[k;s A   ¼5½  ¼5½  ¼5½  ¼5½
Write main programe which started by state government for woman
empowerment of chhattisgarh.

iz’u 27&iz’u 27&iz’u 27&iz’u 27& Hkkjr esa tula[;k foLQksV ds dkj.k le>kbZ;s AHkkjr esa tula[;k foLQksV ds dkj.k le>kbZ;s AHkkjr esa tula[;k foLQksV ds dkj.k le>kbZ;s AHkkjr esa tula[;k foLQksV ds dkj.k le>kbZ;s A ¼5½
Explain the reason of population explosion in India.

vFkok vFkok vFkok vFkok (OR)

vkidh jk; esa tula[;k foLQksV ds ifj.kke D;k ns[kus esa vk jgs gSa \vkidh jk; esa tula[;k foLQksV ds ifj.kke D;k ns[kus esa vk jgs gSa \vkidh jk; esa tula[;k foLQksV ds ifj.kke D;k ns[kus esa vk jgs gSa \vkidh jk; esa tula[;k foLQksV ds ifj.kke D;k ns[kus esa vk jgs gSa \
O;k[;k dhft;s AO;k[;k dhft;s AO;k[;k dhft;s AO;k[;k dhft;s A
Explain what are the results of population explotion in your openion.

iz’u 28&iz’u 28&iz’u 28&iz’u 28& Hkkjr ds ekufp= esa fuEufyf[kr iznf’kZr dhft, &Hkkjr ds ekufp= esa fuEufyf[kr iznf’kZr dhft, &Hkkjr ds ekufp= esa fuEufyf[kr iznf’kZr dhft, &Hkkjr ds ekufp= esa fuEufyf[kr iznf’kZr dhft, & ¼5½¼5½¼5 ½¼5 ½
Show the following in map of india
1. xaxk unhxaxk unhxaxk unhxaxk unh (River Ganga)
2. Hkk[kM+k&ukaxyHkk[kM+k&ukaxyHkk[kM+k&ukaxyHkk[kM+k&ukaxy (Bhakhara-Nagal)
3. eqEcbZ dksydkrk jsy ekxZeqEcbZ dksydkrk jsy ekxZeqEcbZ dksydkrk jsy ekxZeqEcbZ dksydkrk jsy ekxZ (Mumbai Kolkatta Rail Root)
4. fpYdk >hyfpYdk >hyfpYdk >hyfpYdk >hy (Chilka Lake)
5. Fkkj dk e:LFkyFkkj dk e:LFkyFkkj dk e:LFkyFkkj dk e:LFky ( Thar desert)
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funsZ’k&¼b½funsZ’k&¼b½funsZ’k&¼b½funsZ’k&¼b½ iz’u Øekad 29 o 30 rd nh?kZmRrjh; iz’u gS A izR;sd iz’u ij 6 vadiz’u Øekad 29 o 30 rd nh?kZmRrjh; iz’u gS A izR;sd iz’u ij 6 vadiz’u Øekad 29 o 30 rd nh?kZmRrjh; iz’u gS A izR;sd iz’u ij 6 vadiz’u Øekad 29 o 30 rd nh?kZmRrjh; iz’u gS A izR;sd iz’u ij 6 vad
vkcafVr gS A ¼mRrj dh vf/kdre ’kCn lhek 200 ’kCn½vkcafVr gS A ¼mRrj dh vf/kdre ’kCn lhek 200 ’kCn½vkcafVr gS A ¼mRrj dh vf/kdre ’kCn lhek 200 ’kCn½vkcafVr gS A ¼mRrj dh vf/kdre ’kCn lhek 200 ’kCn½

(e) Question No. 29 and 30 are  long answer type question. Each carries 6
marks. (Maximum limit of answer 200 words)

iz’u 29&iz’u 29&iz’u 29&iz’u 29& vkS|ksfxd Økafr ds lkekftd o vkfFkZd thou ij izHkko fyf[k, A  ¼6½vkS|ksfxd Økafr ds lkekftd o vkfFkZd thou ij izHkko fyf[k, A  ¼6½vkS|ksfxd Økafr ds lkekftd o vkfFkZd thou ij izHkko fyf[k, A  ¼6½vkS|ksfxd Økafr ds lkekftd o vkfFkZd thou ij izHkko fyf[k, A  ¼6½
Write  the  effects of  Industrial revolution on Social and Economic life of
men.

vFkok vFkok vFkok vFkok (OR)

jkjkjkjk""""Vªla?k dh vlQyrk ds dkj.k D;k Fks \ fyf[k, AVªla?k dh vlQyrk ds dkj.k D;k Fks \ fyf[k, AVªla?k dh vlQyrk ds dkj.k D;k Fks \ fyf[k, AVªla?k dh vlQyrk ds dkj.k D;k Fks \ fyf[k, A
What are the reason of unseccessfulness of Language of Nations.

iz’u 30&iz’u 30&iz’u 30&iz’u 30& ea=h&ifj"kn~ o jk"Vªifr esa laca/k fyf[k, Aea=h&ifj"kn~ o jk"Vªifr esa laca/k fyf[k, Aea=h&ifj"kn~ o jk"Vªifr esa laca/k fyf[k, Aea=h&ifj"kn~ o jk"Vªifr esa laca/k fyf[k, A ¼6½¼6 ½¼6 ½¼6 ½
Write  the  relationship  in   between  President  and   Council  of
 ministers.

vFkok vFkok vFkok vFkok (OR)

Hkkjr ds jk"Vªifr dk pquko fdl izdkj fd;k tkrk gS \ mlds ladVHkkjr ds jk"Vªifr dk pquko fdl izdkj fd;k tkrk gS \ mlds ladVHkkjr ds jk"Vªifr dk pquko fdl izdkj fd;k tkrk gS \ mlds ladVHkkjr ds jk"Vªifr dk pquko fdl izdkj fd;k tkrk gS \ mlds ladV
dkyhu vf/kdkj le>kb;s Adkyhu vf/kdkj le>kb;s Adkyhu vf/kdkj le>kb;s Adkyhu vf/kdkj le>kb;s A
In which  way  the  president  of india elected ? Explain the imergency
power of president.

----------X----------


